PRZEKROJE POPRZECZNE
SKALA 1:100

Puyion = 0,22 m*

km 14933 Puspn = 1,65 m?
141,08 Liums =4,50 m

Li  =500m

Lk =290m

Puyion = 0,67 m?
km 14959 ‘ Prasyn = 0,63 m?
14030 Lums =5,40 m

e I —— e L =500m
- L. =300m

Pagtom = 0,00 m?

km 2+015 Pro = 4,64 m?
13995 Lims = 6,40 m
L = 5,00 m
Le =560m
km 2+057

Pugtonn = 0,94 m?
Puagpe = 2,79 m?
Luwms = 6,90 m
L« =550m
Le =560m

Puyion = 1,33 m?

km 2+090 P = 0,12 m?
13945 Lims =4,90 m
e ———— - L =515m
Pa—— L =380m

P\\'ykopu = 0,87 m?

km 2+129 Py = 1,07 m?
Lims =5,90m

L = 5,00 m
L =450m

Puyion = 0,24 m?

km 2+158 Prag = 1,15 m?
136,76 Lbums = 5,30 m

Le =5,00m
Lo =330m

Puyion = 0,59 m?

km 2+208 Prasypn = 0,87 m?
Liums = 6,00 m

L =500m
Li =490m

Objasnienie:

Puskom - pole wykopu

Puasyps - pole nasypu

Liums - dlugos¢ zdjgcia warstwy humusu
L: - dlugos¢ warstwy $cieralnej

Lo - dlugos¢ skarp



